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PAPER -1

Note : ¢ This paper contains Sixty (60) multiple choice questions, each question carrying
two (2) marks.

* Candidate is expected to answer any Fifty (50) questions.

* In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions
will be evaluated.

1.  Which of the following represents one billion characters ?
(1) Terabyte (2) Kilobyte (3) Megabyte (4) Gigabyte
2. The factors which are most important in determining the impact of anthropogenic activities

on environment are :

(1) Population, forest cover and land available per person

(2) Population, affluence per person, land available per person
(3) Population, affluence per person and the technology used for exploiting resources
(4) Atmospheric conditions, population and forest cover

3.  Which one of the following represents the binary equivalent of the decimal number 25 ?
(1) 11011 (2) 10101 (3) 01101 (4) 11001

4.  The University Grants Commission was established with which of the following aims ?

(a) Promotion of research and development in higher education

(b) Identifying and sustaining institutions of potential learning

(c) Capacity building of teachers

(d) Providing autonomy to each and every higher educational institution in India

Select the correct answer from the codes given below :

(1) (a), (b) and (d) (2) (@), (b), (c) and (d)
(3) (@) (b)and () (4)  (b), (c) and (d)
5.  The session of the parliament is summoned by :

(1) The Speaker of the Lok Sabha and the Chairman of the Rajya Sabha
(2) The President

(3) The Prime Minister

(4) The Speaker of the Lok Sabha

coo [N IHRUANRTIATAR]
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fder: o @ T H WIS (60) Tg-fawed ™ U €1 Yw Y9 F o (2) 3 ¥ |
o 317l HI HRIF W TE (50) T & SR A T
o Ifc TeImd (50) ¥ A e % S G391 9Uw v (50) YA € S S\

1. Tr=fafed 9 9 sH-9 @ oa el o1 gfafiue o) &2
(1) M (2) feweiramge (3) WMeTEE (4) frmemge

2. RN R gHaRufas st w1 yame fuifa w0 # e s gaifis Aeeyul § 2
(1) SHEE, Jesed iR uf =afe gft sucrse

(2) SFHE, i Safed geadl, gfd sHfe fH Sucrsud
(3) EE, yfd safa sAeEdn SR HH1EEl 1 e I & ford ITART i S arelt drenfiet
(4) “HeE feafqal, SEEn 3R TSt

3. frafafga # 9@ S9-97 <oHad &A1 25 &1 S8l THMETET (a4 sfaede) 2
(1) 11011 (2) 10101 (3) 01101 (4) 11001

4. Tovafoarera e M i fifRd | 9 T 3|l o faw wfea o = an?
(a) STTHYM & A iR 3= foen & fawm & fag
(b) EHEARTS AT o HEAH i U89 TE 3% IH T H oA WA % faw
(c) Torereri =1 aran i
(d) 9RA =l 3 T3 & i Tdsh FEA1 sl R IaH 63 & g
Freiferd e o1 TR § HE&l 3T 1 FIT HIGT
(1) (a), (b) 3 (d) 2 (@), (b), (©) FR (d)
(3) (@) (b) (o) 4)  (b), (o) ¥R (d)

5.  TU %1 U freifhd | @ foneer g etmed TR i © 2
(1) TRAY H1 TR F [HHHT T T
(2) TgHfa
(3)  ggEH

(4) TAHFT H TR

coo [ MR UL
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6. India’s contribution to total global carbon dioxide emissions is about :

(1) ~15% 2) ~3% B) ~6% 4) ~10%
7.  In which of the countries per capita use of water is maximum ?

(1) India (2) USA

(3) European Union (4) China
8.  Encoding or scrambling data for transmission across a network is known as :

(1) Decryption (2) Protection (3) Detection (4) Encryption
9.  Civil Service Day is celebrated in India on :

(1)  7th July (2) 215t April (3) 24t April (4) 215t June

10. The South Asia University is situated in the city of :
(1) Kathmandu (2) Colombo (3) Dhaka (4) New Delhi

11. Which is an instant messenger that is used for chatting ?

(1) Google Talk (2) Altavista (3) MAC (4) Microsoft Office

12. The Gross Enrolment Ratio (GER) in institutions of higher education in India at present (2015)
is about :

(1) 23 percent (2) 8 percent (3) 12 percent (4) 19 percent

13. Two earthquakes A and B happen to be of magnitude 5 and 6 respectively on Richter Scale.
The ratio of the energies released Ez/E, will be approximately :

1) ~ 64 @) ~8 3) ~16 4) ~32

14. Which of the following is not an output device ?
(1) Keyboard (2) Printer (3) Speaker (4) Monitor

15. Which of the following is not open source software ?

(1) Apache HTTP server (2) Internet explorer
Fedora Linux (4) Open office
HI\HI“IIIIHI\IHII LTI ‘




10.
11.
12.

13.

14.

15.
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T A Fe SEATFIEE a1 § IR T AFTEH AT foha € 2
1) ~15% @ ~3% 3) ~6% 4 ~10%

forg <o # ufq =afea St v Stfeeray § 2
(1) 9rd 2) JTET @) W i @) <.

Jegdh & AR-UR TAHEE & A Tiwei Hl Fedg F AN TSHS HIAT FIT FHEA ¢ 7
1) fawrErmm (2) Han (3)  SAITHA (4) HIEERI

ad o Tafaa wfdy feaq amn s @ :

(1) 7 I H 2) 21 A HI (3) 24 YA HI (4) 21 53 &

T 93 T giafeed freifea § 9 form v  arafted 772
(1) wIeHTE (2) eI (3) @I (4) T oot

STt (Afn) F fow wF-1 s HESR YT B 2
(1) T 2k (2) TRl (3) THTH (4) TEHEGE ARG

JAAH (2015) § 9RA &1 3 oraqor Geensii § Wehel AR TG (GER) ST F1 B ?
(1) d39 (23) gfaed (2) M8 (8) Ufderd  (3) W@ (12) Ufawrd (4) <19 (19) wfwrd

T IFHT A R B Ry ©ha W HH: 5 3R 6 TR F | IfSIq Hofieq 1 ST AT
(Eg/E ) foher g ?
1) ~ 64 2 ~8 3) ~16 4 ~32

frefafed 9 9 sE- frm gfea & €2
1) -9 2) fi= (3) TR (4) TR

frefafed & @ &1 e @ia arReeR T8 € 7
(1) 319 = & & it wel (2) IR THIEX
() HER AR (4) A fRg
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16.

17.

18.

19.

20.

21.

HIHIIHIHIHI\IHII

In the recently launched Air Quality Index in India, which of the following pollutants is not
included ?

(1)  Chlorofluorocarbons (2) Carbon monoxide

(3) Fine particulate matter (4) Ozone

The total number of central universities in India in April 2015 was :

(1) 43 2) 08 3) 14 4) 27

Which of the following combinations represent renewable natural resources ?

(1) Oil, forests and tides

(2) Fertile soil, fresh water and natural gas

(3) Clean air, phosphates and biological diversity

(4) Fishes, fertile soil and fresh water

Which of the following factors does not impact teaching ?

(1) Learning through experience

2)

(3) Class room activities that encourage learning
)

(4

Teacher’s knowledge

Socio-economic background of teachers and students

Which of the following steps are required to design a questionnaire ?

(a) Writing primary and secondary aims of the study.

(b) Review of the current literature.

(c) Prepare a draft of questionnaire.

(d) Revision of the draft.

Select the correct answer from the codes given below :

(1) (@) () (© and (d) () (@), () and (©)
(3) (), () and (d) (4)  (b), (o) and (d)

Which of the following is the highest level of cognitive ability ?
Evaluating (2) Knowing (3) Understanding (4) Analysing

=)}



16. R # 7 &1 § IRew ford T A1y [oreren YEehies |, frefafed § 9 s ugwes aftafed @ foa
TR ?

(1) AR (2) HTEA THEEES
(3) Hem fafasa (Wférgere) Tard (4) 3TNIA

17. 3 2015 § 9 ® o w=ra favafaemes o
(1) 43 2) 08 (3) 14 4) 27

18. fr=Afafed # @ sF-91 WA Tewoie qhfas Ha1eH Jehe Hidl € ?
(1) qd, 39 IR SR
(2) 3R T, AN A AR Whfaew T
(3) =3 91, Wiehey 3R g fafawa
(4) TsfaEr 3Rk ger iR A A

19. fT=ifRd # § SH-W qa e sl gwifed & a2
(1) T3 B e
(2) Terers =1 A
(3)  heT i UHt wfafafeaT St W w1 deanfsd wt §
(4) Tl oir faenfofai =t MR- snfee gy

20. TH-FIAEE! IR Fd qHF e § § HH-9 Hed ST W & SATavaehd ¢ 2
(a) AT & WAHF AR T e o |
(b) = Eifee T T |
(c) TEEE T YTEY TR HEA|
(d) ST H I |

e fou w2l @ wE I w1 =T Hifo |
(1) (), (b), (c) &R (d) 2) (@), (b) ¥R (c)
3) () () 3 (d) (4) (b, (0) 3R (d)
21. Taeifed § @ 3M e Aol 1 S=a9 W R ?
(1) ¥AHRA HE (2) S (3) HAHA (4) foweryor e
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22. Achievement tests are commonly used for the purpose of :
(1
(

) Assessing the amount of learning after teaching
2) Making selections for a specific job

)

)

3

—~

Selecting candidates for a course

(4) Identifying strengths and weaknesses of learners

23. The conclusions/findings of which type of research cannot be generalized to other
situations ?

(1) Causal Comparative Research ~ (2) Historical Research

(3) Descriptive Research (4) Experimental Research

24. Techniques used by a teacher to teach include :

(a) Lecture

(b) Interactive lecture

(c) Group work

(d) Self study

Select the correct answer from the codes given below :

(1) (a), (&) and () (2) (a), (®) and ()
(3) (), (), (©) and (d) (4) (), (0 and (d)

25. A good thesis writing should involve :

(a) reduction of punctuation and grammatical errors to a minimum.
(b)  careful checking of references.

(c) consistency in the way the thesis is written.

(d) a clear and well written abstract.

Select the correct answer from the codes given below :

(1) (b), (c) and (d) (2) (), (b), (c) and (d)

(3) (), (b) and (0 (4) (), (b) and (d)

coo [N IHRUANRTIATAR]
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22, Sucfsy qdteron g fe H | forass fore ygaa fee s €2
(1) Toeu % geer Heq & AE % ik % fag

(2) fret fafire w0 &g =79 &0 & fag
(3) Tt gTeushY &g YRIRTE & =9 o fag
(4) @A 9Tl & 9O 9 gad &l it 9geH & o

23. Tr=fafed 9 @ fFe 9o6R & oTqdy™ & i /frndl o o= feafaal 9 ammiea &l fean s

a1 § 7
(1) hROTCHS JoTTIeh STTHM (2) UfderfEes TgHYH
(3) TUATHE FATHYUH (4) TR SIEEE

24. fo1eten gR0 1eATOH & fAQ SO 1 WM aTel! deRle | i € ¢
(a) AT
(b) UREANR ToRam STTeTid e
(c) e
(d) w@ErEE
= fou Fi | T I H FF7 HIWT
(1) (), (b) 3R (d) 2 (@), (b) ¥R ()
(3) (), (b), () W (d) 4)  (b), () ¥R (d)

25. UTF oT=3 WY Y&y oA § Wi €
(a) Torm fog o #ut o) <gFaw s gt
(b) T HT WA E W |
(c) wY gy ofed § fawn|
) T IR oT=st WE W o gom g

1= fou i | w9 T 1 =F HIGC
(1) (b), (0) R (d) 2) (), (b), (c) &R (d)
3)  (a), (b) 3 (c) 4) (@), (b) &R (d)

e[|l
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26.

27.

28.

29.

30.

Which of the following statements regarding the meaning of research are correct ?

(a) Research refers to a series of systematic activity or activities undertaken to find out the
solution of a problem.

(b) It is a systematic, logical and an unbiased process wherein verification of hypothesis,
data analysis, interpretation and formation of principles can be done.

(c) Itis an intellectual enquiry or quest towards truth.

(d) It leads to enhancement of knowledge.

Select the correct answer from the codes given below :

(1) (@), (b), () and (d) (2)  (a) (b) and (c)
(3)  (b), () and (d) 4) (@) () and (d)

Jean Piaget gave a theory of cognitive development of humans on the basis of his :
(1) Evaluation Research (2) Fundamental Research
(3) Applied Research (4) Action Research

“Male and female students perform equally well in a numerical aptitude test.” This statement
indicates a :

(1) statistical hypothesis (2) research hypothesis
(3) null hypothesis (4) directional hypothesis

Which of the following statements about teaching aids are correct ?
(@) They help in retaining concepts for longer duration.

(b) They help students learn better.

(c) They make teaching learning process interesting.

(d) They enhance rote learning.

Select the correct answer from the codes given below :

(1) (), (b) and (d) () (), (b), (c) and (d)

(3) (), (b) and (0 (4) (b}, (o) and (d)

A good teacher is one who :

(1) inspires students to learn
(2) gives useful information
(3) explains concepts and principles

(4) gives printed notes to students

coo [N IRNANRTINTAR] 1



26.

27.

28.

29.

30.
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‘STTEYE’ W 1 e & Hey § frefeted § ¥ $-9 weh g § 2

(a) STIGYUM &1 arcqd forelt THE o THIYM &1 901 O & AU P& hl T3 Hd FHrdhad

31T FHIwAT Hi ST H 7|

(b) IE TF Fafd, Teheh AR Froqet wiswan © e aRerea T &1 9deo, stiswel &1 foweryo,

fagidl &1 =ame SR W1 i ST ehd! |
(c) I8 TA & U digeh SAra Aa Gt ¢ |
(d) 99 FE ¥ gfg el T
frefafad fel 9 H8l ST &1 =997 R

1) (@), (), (©) 3R (d) 2) (a), (b) ¥R ()

3)  (b), () 3 (d) 4)  (a) () 3 (d)

frefafed & 9 fae SR M 1 == 3 °Ha faam &1 93mds fage fean?
(1) Wi STTHM (2) Hifds sTIHuH

(3) UM STIEYH (4) ToraTH® STIEYM

" U HEaTere e Tl | qey qen afgen faene weh wme yeh e ¥
T foraen! 3 e €2

(1) SieFd gReea (2) SATHEN gRehed

(3) I YRR (4) foumenes afthed

foreror werre Wt % aR § fafafed § § S9-9 w91 ¥ 2
(a) o WHTUAT URUT I T THI Toh FAC T | AEE HA ¢ |
(b) 3 foenferi 1 o181 qRE 9 He H Ao HA 2

() o foreror &R afermm wfshan i ek ST € |

(d) o TH FEA F YiHAT h1 FTET <t ¢ |

1= fou el ¥ TR W & =TT A
(1) (a), (b) ¥R (d) 2) (), (b), (c) &R (d)
(3) (a), (b) I (c) (4) (b, (o) 3R (d)

T 7= e TR ®, S

(1) Sl HEn % fau sffa w g1
(2) SYART GEAE @R |

(3) Heneddel AR fagidl ! T Il 7|
(4) forenfofai =1 gfeq e <1 T

—
j—

" ag ey e

P.T.O.



Read the following passage carefully and answer questions 31 to 36.

Story telling is not in our genes. Neither it is an evolutionary history. It is the essence of what
makes us Human.

Human beings progress by telling stories. One event can result in a great variety of stories
being told about it. Sometimes those stories differ greatly. Which stories are picked up and repeated
and which ones are dropped and forgotten often determines how we progress. Our history,
knowledge and understanding are all the collections of the few stories that survive. This includes
the stories that we tell each other about the future. And how the future will turn out depends
partly, possibly largely, on which stories we collectively choose to believe.

Some stories are designed to spread fear and concern. This is because some story-tellers feel
that there is a need to raise some tensions. Some stories are frightening, they are like totemic
warnings : “Fail to act now and we are all doomed.” Then there are stories that indicate that all
will be fine so long as we leave everything upto a few especially able adults. Currently, this trend
is being led by those who call themselves “rational optimists”. They tend to claim that it is human
nature to compete and to succeed and also to profit at the expense of others. The rational optimists
however, do not realize how humanity has progressed overtime through amiable social networks
and how large groups work in less selfishness and in the process accommodate rich and poor, high
and low alike. This aspect in story-telling is considered by the ‘Practical Possibles’, who sit between
those who say all is fine and cheerful and be individualistic in your approach to a successful
future, and those who ordain pessimism and fear that we are doomed.

What the future holds for us is which stories we hold on to and how we act on them.
Answer the following questions :

31. Rational optimists :
(a) Look for opportunities.
(b) Are sensible and cheerful.
(c)  Are selfishly driven.
Identify the correct answer from the codes given below :
(1) (b) and (c) only (2) (a), (b) and (c)
(3) (a) only (4) (a) and (b) only

32. Humans become less selfish when :
(1) they work in solitude (2) they work in large groups

(3) they listen to frightening stories (4) they listen to cheerful stories

coo [N IRNANRTINTAR]
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Frfafaa o= &l W igde ufet 3T 31 & 36 Teh & Y9I o It QT :
FHAETEA TR S | 781 8 | I8 [aeneqers siae™ Wi 781 €1 9% 98 a § S 84 AMa o ¢ |

TG H1 A & 7Y ¥ W Hear § 1 FRe fow e 1 uftomy wen & % fafay w9 o wmm
a1 B, Toraeh an o &1 whed § | FHefi-hefi 39wl § 9 AR B €1 fH e %1 9= 8 W e 3R
30 EAT S @1 © qe1 fhE e i w1 o man iR e fean s ® f59d sgen 9 fruifa g ® fw e
FY JIfa 1| TAR 3hae, I 3R gHe - 3 Tt 5 FerlTal % Ty § S Sifod wd €1 39H 9 et
off STt € S &7 Afae o oI Th-gH &l Fed o | AR Aqfae ohd1 3 I8 AT Stere SYed: s
®9 Y I w997 R R Fq 8 99 ) 91 afes €9 9 fovam 2 |

F9 Fellar df =R IR foar Hem & o 7 St ¥ 1 W@ sufen % 35 wen 9 T Hegd Hd
% foh F© e U1 T T ST | FS SIS el el €, 3 SIH =ret et gt € :  o1eft Fw e
T 1 &1 T T 8 S 36 91E F U FerTal gl § S 39 91d i AR Hehd il & o e
F 3101 2 S 70 e F© favi ® § =< Wa 9%kl % 9 SIS I | 3H IHT Ig g A ARl g
3T TS ST T € il 3T STT9ahl ‘' faaht STemmaTel '’ hed € | o I8 STa1 Hid § foh FTaeqell il TRt e
AR T 1 HIFd W @Y A &AM WIE | eeAi(h fooehl STRTETE! 9% AqVa TR F R 9
GrIfSTeh TH-T % AIEAH ¥ WHed 3 T % WY hY TG i ¢ SR FH 9 FHS F1 GHE AH W@
Y Hr w1 € a0 yiswA § ot o fe v - R 99 §9 9 R qEEifed w30 1 wr-areE &
39 e W SATeRIG gerel | g1 foan foRan S €, St 37 @l o HeF 1 AR ST © S 98 hed © [
T 3131 ¢, G ®I IR GEg Jfasd & fau o0 =er # Afas! 941 3i) 3 @ st fFRemeR iR
99 1 A AT &, I I8 HId © foh 89 TelohT TS0 81 ST |

TN vfasa 7% § o &n T el 1 o1 we € iR 39 SH R fod e 4 &4 4 T

Frefeafaa g9t & w1 Gt
31. oot smemandt
(a) TIE HI A% H wd S
(b) HIASTIA TR T @A ¢

() T ¥

= ﬁfq T«ﬁ ¥ TE W ‘qﬁﬁ'l'q :

(1) e (b) 3R () 2 (@), (b) (o)
(3) o (a) (4) A (a) 3R (b)

32. WM W e g € o7
(1) 9 3Thel T F T | 2) AT T H FE FA Tl
(3) A ST FHEIE g ¥ (4) 9 THCEEN FEIfEl g § |
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33.

34.

35.

36.

37.

38.

‘Practical Possibles” are the ones who :
(1) are cheerful and carefree (2) follow Midway Path

(3) are doom-mongers (4) are self-centred

Story telling is :
(1) the essence of what makes us human (2) an art

(3) a science (4) in our genes

Our knowledge is a collection of :
(1) some important stories
2)  all stories that we have heard during our life-time

4 a few stories that survive

(2)

(3) some stories that we remember

(4)

How the future will turn out to be, depends upon the stories ?
(1) Designed to make prophecy

(2) We collectively choose to believe in
(3)  Which are repeatedly narrated

(4) Designed to spread fear and tension

At present a person is 4 times older than his son and is 3 years older than his wife. After
3 years the age of the son will be 15 years. The age of the person’s wife after 5 years will
be :

1) 50 2) 42 3) 48 4) 45

Among the following statements two are contradictory to each other. Select the correct code
that represents them :

Statements :

(a) All poets are philosophers.

(b) Some poets are philosophers.

(c) Some poets are not philosophers.

(d) No philosopher is a poet.

Codes :

1) Gand@© ) @and®) () @and(d) (4 (a)and
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33.

34.

35.

36.

37.

38.

<o [[1lI

‘frarces dare' 3§ =
(1) Tl IR IoRamE 2 ¢ | (2) AT R = ¥ |
() M F IS FA AR (4) STTH-R(ET B |

el o T | W e ?

(1) T e 5 gH " oFm § (2) T el
3) T famm 4) TIRIHAR
AN 9 1§ | foraw g §?

1) TS Feaqol FHEfa |

) 39 wEE = T T e we ¥ g T
(3) F© T FermE s a9 I8 F T

(4) F© FHEIEl o Sifad @l |

FHETA o STHR T AN st ohem g 2

(1) ofg= sam % fore fowfua =1 st €1

(2) TH IHfEE ®9 W favard w1 w9 wA T
(3) S IR-9R HE A F |

(4) W IR T e & o fosfra wt S E )

A H T Al ST o @ IR A 991 § SR 319 Ul © 3 WA 91 €, 3 WA & oS SHF 9 Hl
3 15 W1 ©1 ST | 39 Al i Il bl T 5 A1 o1 fehat gt ?
(1) 50 2) 42 (3) 48 (4) 45

frefafed woAl § 9 81 Th-gER & folel €1 68t Fe w9 R S 98l S 1 gfafafae w30

(a) Tt i qretfrer B
(b) FD Hfq TIH B T
(c) P Hfd IEiE Tl B |
(d) = ot IRITH Hd T Bl

(1) (b) 3R () (2) (a) 3R (b) (3) (a) ¥R (d) 4)  (a) ¥R (o)

p—
g1
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39. In an examination 10,000 students appeared. The result revealed the number of students

who have :

passed in all five subjects = 5583
passed in three subjects only = 1400
passed in two subjects only = 1200
passed in one subject only = 735
failed in English only = 75
failed in Physics only = 145
failed in Chemistry only = 140
failed in Mathematics only = 200
failed in Bio-science only = 157

The number of students passed in at least four subjects is :

(1) 7900 2) 6300 3) 6900 (4) 7300

40. Which of the following is not a principle of effective communication ?
(1) Strategic use of grapevine (2) Persuasive and convincing dialogue

(3) Participation of the audience (4) One-way transfer of information

41. In communication, the language is :
(1) The non-verbal code (2) The verbal code
(3) Intrapersonal (4) The symbolic code

42. When the purpose of a definition is to explain the use or to eliminate ambiguity the definition
is called :

(1) Persuasive (2) Stipulative (3) Theoretical (4) Lexical

43. A deductive argument is invalid if :
(1) Its premises and conclusions are all true
(2) Its premises and conclusions are all false
(3) Its premises are true but its conclusion is false

Its premises are false but its conclusion is true

HIHIIHIHIHI\IHII VIR
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39. T qOanm ¥ 10,000 faeneft 931 den war =ifvd e W faenfofai =t 9o 3@ R ©

it gt foroel o Thet 8 aTel shi G = 5583
T fom=rl & a%a 3 STl i HE = 1400
< fowl & I%at 8F aTell ol & = 1200
Teh faua § T%a B9 oIl i & = 735
had IS fIo § STH6A 8 dTali i HE&AT = 75

Faa Hifasw fawa § e g9 el S g = 145

Fae @ faua | % e arell wt GE = 140
had T fawa o STHRa B aTl sl & = 200
had St T fooa § STha 8 9Tl i 9& = 157

%9 9 A IR fawdi § goel 81 9l fornfai=i o6t e an
(1) 7900 (2) 6300 (3) 6900 (4) 7300

40. frefafed § 9 w1 et T 1 fogm & © 2
(1) TaETET 1 WHIfTH ITA 2) TIFER IR fovarEces S

(3) el w wrfeRy (4) I T THATRN ST

41. HEY Y WO B
(1) R afa® Fe (2) arfa® F2
OEERERIESED (4) TdIRIHS Fe

42. 59 URYTNT HT T ST I TR FIA AT STEARAT AT HIA P HET A ¢ a1 TH R
FHEAT @ ¢
(1) JIITHR (2) SATHTHS (@) Haifww (4) s

43. T feATeHe q ordy B § At
(1) 9% 3MHR a1 iR feed wsft o €

(2) 3HF MHR A1 IR Fremd el otacd €1

(3) THF MHR AR A T Freawdd a7 €1

(4) THF MUR AR A W (1568 7 T
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44.

45.

46.

47.

48.

Which of the following are the characteristic features of communication ?
(a) Communication involves exchange of ideas, facts and opinions.

(b) Communication involves both information and understanding.

(c) Communication is a continuous process.

(d) Communication is a circular process.

Select the correct answer from the codes given below :

(1) (), (b), (c) and (d) (2) (a), (b) and (0

(3) (), (b) and (d) (4)  (b), (c) and (d)

Which of the codes given below contains only the correct statements ? Select the code :
Statements :

(a) Venn diagram represents the arguments graphically.
(b) Venn diagram can enhance our understanding.

() Venn diagram may be called valid or invalid.

(d) Venn diagram is clear method of notation.

Codes :
(1) (@), (c) and (d) (2) (a), (b) and (c)
(3) (a), (b) and (d) (4)  (b), (c) and (d)

The next term in the series is :
2,59,19, 37, ?
(1) 80 (2) 73 3) 75 4) 78

Inductive reasoning is grounded on :
(1) Harmony of nature (2) Integrity of nature

(3)  Unity of nature (4)  Uniformity of nature

If we want to seek new knowledge of facts about the world, we must rely on reason of the

type :

(1) Physiological  (2) Inductive (3) Deductive (4) Demonstrative

coo [N IRNANRTINTAR]
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44.

45.

46.

47.

48.

coo [[HHAHBLA UL

frfafaa @ =0 TEwo F faan § 2

(a) TEU H foar, el oI Tl 1 SMeH-YeH Wi ¥
(b)  FEYU H g SR 9 < 9nfee ¥

(c) TEIYY T Tad iR 7|

(d) FHI TH g Gl B

T few U %2 @ T S F =TI FIC
1) (@), (b), (c) &R (d) 2) (@), (b) ¥R (c)
(3) (a), (b) R (d) (4) (b, (0) 3R (d)

T2 fed T F2 H | frud Faa W@ weH g g2

A :

(a) O AN ThI h! ATHETT €9 § YIq a1 2|

(b) I TG THR THA i g1 Fohell ¢ |

<) S TG I A YT Y gl N kel ¢ |

d) o TG Hha-TGq 1 T TIH T |

< :

1) (@), () 3R (d) @ (@), (b) ¥ (o)
(3) (a), (b) 3R (d) 4) (), (0 ¥R ()

(
(

9 TGl i ST & T ER 2
2,5/919, 37,7
(1) 80 2 73 3) 75 4) 78

SNTHATCH ek FeifeRd | | ford T oTeia B2
(1) Yhid sl FTHLHA (2) UH(d I IS
(3)  Thfd i T (4) IHd H GHEYA

gfe g9 fava & o U 92 &l 78 SRRl YT H3 i RIS L 75 3 9 59 gor =t gh-31fem
TR T HY 2

(1) RR foT™ 9wt (2)  SFHATHS (3) frmAeTs (4) USRS

p—
O

P.T.O.



49.

50.

51.

52.

53.

54.

Effectiveness of communication can be traced from which of the following ?
(a) Attitude surveys

(b) Performance records

(c) Students attendance

(d) Selection of communication channel

Select the correct answer from the codes given below :

(1) (), (b) and (d) () (), (b), (c) and (d)

(3) (a), (b) and (0 (4)  (b), (9 and (d)

One day Prakash left home and walked 10 km towards south, turned right and walked
5 km, turned right and walked 10 km and turned left and walked 10 km. How many km will
he have to walk to reach his home straight ?

1) 30 @) 10 3) 20 4) 15

A girl introduced a boy as the son of the daughter of the father of her uncle. The boy is
related to the girl as :

(I) Son (2) Brother (3)  Uncle (4) Nephew

In certain code MATHURA is coded as JXQEROX. The code of HOTELS will be :
(1) ELIPQB (2) LEQIBP (3) ELQBIP (4) LEBIQP

The term ‘grapevine’ is also known as :
(1) Horizontal communication (2) Downward communication

(3) Informal communication (4) Upward communication

Assertion (A) : Formal communication tends to be fast and flexible.

Reason (R) : Formal communication is a systematic and orderly flow of information.
(1) (A) is false but, (R) is correct

(2) Both (A) and (R) are correct and (R) is correct explanation of (A)
(3) Both (A) and (R) are correct, but (R) is not correct explanation of (A)
(4)

4)  (A) is correct but, (R) is false

coo [N IRNANRTINTAR] 2



49.

50.

51.

52.

53.

54.

freafefad & @ fha@ Tewor 6t GTasiicral ST Udl oIl ST Hehdl § ?
(a) SAfvafa welamm

(b) = froaeA e

(c) Tomnfei =t Iufeerfa

(d) HEIWU HIEFH AT G

= feu 2 ¥ w& S H = Hi
(1) (a), (b) 3R (d) 2) (), (b), (c) &R (d)
(3) (@), (b) I (c) (4)  (b), (0) 3R (d)

T fa wehTer =R 9 T § @i e § 10 for . =t €, < gear @ o 5 fa . = 8, el gea
7 TR 10 f. 1. 5reran § oIR o¢ gt 10 f. 7. 5aran &1 €S o799 3R g & forw 5@ fram fR A
EREREP

(1) 30 2) 10 3) 20 4) 15

T ASHI A Teh ASh o1 U= o for o SUSF Shal o faan &1 921 &1 A €, A TSH! T ASH
9 fear gem?

1) & (2) (3) 3iwd (4) TS

fodt ®e ¥ MATHURA &1 JXQEROX f&fuq =1 8, HOTELS foas gr1 fefud gar § 2
(1) ELIPQB (2) LEQIBP (3) ELQBIP (4) LEBIQP

‘Iaazd’ (SrRgerdr) e fifed § 9 fohg ®9 | off ST ST © 2

(1) &fds §9R (2) = H R FEAR

(3) FTAMTEE HaR (4) FHH AR AR

AwIT (A) - 3to=anier TEmu @fa 3Tk er=iter g1 9feu |

qh (R) : I e T U Aeeg SR At yare §

1) (A) 8@ 8, T (R) TF T |

2) <H(A) 3R (R) T ¥ 3R (R), (A) F1 HE SRR |

(3) T (A) 3R (R) ¥ &, WY (R), (A) F1 T TR T @
4) (A) ¥ T, T (R) 39A B
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Question numbers 55 to 60 are based on the tabulated data given below :

A company has 20 employees with their age (in years) and salary (in thousand rupees per month)
mentioned against each of them :

Age Salary Age Salary
S.No. | .. (in thousand rupees S.No. | .. (in thousand rupees
(in years) (in years)
per month) per month)
1. 44 35 11. 33 30
2. 32 20 12. 31 35
3. 54 45 13. 30 35
4. 42 35 14. 37 40
5. 31 20 15. 44 45
6. 53 60 16. 36 35
7. 42 50 17. 34 35
8. 51 55 18. 49 50
9. 34 25 19. 43 45
10. 41 30 20. 45 50
55. What is the average salary (in thousand per month) in the age group 40 - 50 years ?

56.

57.

58.

59.

60.

1) 36.5 @) 35 (3) 42.5 (4) 40.5

What is the fraction of employees getting salary less than the average salary of all the
employees ?
(1) 47% (2) 45% 3) 50% (4) 55%

What is the frequency (%) in the class interval of 30 - 35 years ?
(1) 35% (2) 20% (3) 25% (4) 30%

What is the fraction (%) of employees getting salary = 40,000 per month ?
(1) 32% (2) 45% (3) 50% (4) 35%

What is the average age of the employees ?
(1) 45.3 years (2) 40.3 years (3) 38.6 years (4) 472 years

Classify the data of age of each employee in class interval of 5 years. Which class interval of
5 years has the maximum average salary ?

(1) 50 - 55 years (2) 35 -40 years (3) 40 - 45 years (4) 45 - 50 years

-00o0-
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U9 AT 55 W 60 deh o fed T Soeiiehd ST WX e § 1
Teh HEA | 20 FHHE &1 3961 39 (a6t §) R 39 (ufd 91 ewR w93 §) e o= wan #)

_— 0 qad - 3 qad
| (atd) | (uft e R v ) | (wetd) | (v T TR e )

1. 44 35 11. 33 30
2. 32 20 12. 31 35
3. 54 45 13. 30 35
4. 42 35 14. 37 40
5. 31 20 15. 44 45
6. 53 60 16. 36 35
7. 42 50 17. 34 35
8. 51 55 18. 49 50
9. 34 25 19. 43 45
10. 41 30 20. 45 50

55. 40-50 T &% Tg ¥ § 3fgq Iaq (9fd A1 TR ¥9 H) fohaan 82

a1
=2}

9!
N

58.

59.

60.

1) 36.5 2) 35 (3) 42.5 (4) 40.5

. HHAIE &1 fha 9 Fa HH=E & 39 I 9 FH I ddl ¢ 2

1) 47% ) 45% (3) 50% (4) 55%

. 30-359ul & o T H A (%) FME?

1) 35% 2) 20% 3B) 25% 4) 30%

FHHAE 1 fora 9T (%) Wfd W18 = 40,000 S TH 3 @I € 7

1) 32% 2) 45% (B) 50% (4) 35%
FH=fE w1 efied Su @ e ?
(1) 453 ad (2) 403 a4 (3) 38.6 ad (4) 47294

Jeh HHAN i I o 3The &I 5 T4 o T<Iel o o7 H Fiehd &L | form ol sT=avral # Aferenad
e o yefeid § 2
(1) 50-55dH (2) 35-40 94 (3) 40 -457H (4) 45-509d
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